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138 &> |D-8 oM &% (WA) A 0 4 S3 0 12 0 8 0 4l oM 7.6 12 - - - o - - oM - - - o 6.3
139] &> |D-9 Lo &% (AA) A 0 4 S3 0 12 0 8 0 4 o™ 9.5 18 - - - Lo - - Lo - - - Lo 3.4
140 &> |D-10 tom | BB (AA) A 0 4 S3 0 12 0 8 0 4l ©ow® 2.1 3 - — — £ — - £ - — - £ 14.0
141 &> |p-11 tom | BB (BA) A 0 4 S3 0 12 0 8 0 4l ©om 5.2 9 - - - £ — - £ - - - £ 12.3
142| &> [D-12 tom | BB (BA) A 0 4 S3 0 12 0 8 0 4l ©om 5.9 13 - - - £ - - £ - - - £ 3.7
143 &> [p-13 tom | BB (BA) A 0 4 S3 0 12 0 8 0 4l ©o® 6.6 15 - — — £ — - £ — — - £ 3.7
144 &> [D-14 Rl #IF A 0 8 S7 0 12 0 0 0 2| AT 11.7 16| iRAT 11.7 16| HrHT HERE - o™ R - - HERET 11.0
145 o [D-15 ERal P9 A 0 8 S7 0 12 0 0 0 2| RAT 7.9 20| REEAT 7.9 20| AT HERE - o R - - P 11.0
146| &> |D-16 ERa) PIF A 0 8 S7 0 12 0 0 0 2| AT 4.4 8| AT 4.4 8| RuEAD W ET - o HEE R — - #53EHT 10.0
147 &> |p-17 HEE R P9 A 0 5 S7 0 12 0 0 0 2| AT 8.2 15| AT 8.2 15| HEAT HERET - BORET | BROE - - HERET 6.3
148| &> |[D-18 ERl #IF A 0 8 S7 0 12 0 0 0 2| AT 7.7 10| AT 7.7 10| HrHT - - BORET | BROE - - HERET 3.0
149 &> [D-19 ERal P9 A 0 8 S7 0 12 0 0 0 2| RAT 10 12| AT 10 12| HRHT - - BORET | B - - P 6.0
150 &> |D-20 ERa) #I A A 0 8 S7 0 12 0 0 0 2| HRAT 8.9 11| AT 8.9 11| BoRET | EFiDHeET - ERay - - - 3R ET 1.0
151] &> |p-21 Ry #IF A 0 8 S7 0 12 0 0 0 2| AT 12.1 16| AT 12.1 16|  HoERET | EFDHeET - Ry - - - W 3.0
152| &> [D-22 HESE R #IF A 0 8 S7 0 12 0 0 0 2| AT 10.6 15| AT 10.6 15| BORET | EF0HeET - R - - - HERET 2.7
153 &> [D-23 R P9 A 0 8 S7 0 12 0 0 0 2| RAT 11.7 16| AT 11.7 16| HERET | ERDHRET - R - - - HERET 4.5
154 &> [D-24 EPal #IF A 0 8 S7 0 12 0 0 0 2| RAT 12.3 16| AT 12.3 16| HOERET | EFHRET - R - - - 3R 6.0
155| &> [D-25 R #IF A 0 8 S7 0 12 0 0 0 2| AT 11.5 15| AT 11.5 15| BOERET | EFHeET - SRR - - - HERET 3.5
156| &> |D-26 HESE R #IF A 0 8 S7 0 12 0 0 0 2| Ay 3.2 6| AT 3.2 6| AT MR - £ R - - HERET 11.0
157 &> |D-27 ERl #IF A 0 8 S7 0 12 0 0 0 2| AT 8 13| AT 8 13| ©om HERET — o R - - HERET 15.0
158| &> |D-28 ERal P9 A 0 8 S7 0 12 0 0 0 2| RAT 7.9 15| AT 8 14| HrHT - - BORET | B - - P 0.0
159| 245 [E-1 8 5 RET 23 A 0 3 S2 4 0 0 0 0 3| BsiRED 2 6 - — - 8 5 RET — - SH B - - - B 4 RET 0.0
160| >4'% |E-2 AFIES | B8 GRI) A 0 5 S4 10 10 0 5 5 5| HAT)IERS 5 20 - - - | EFIES — - AFIET - - - AFIET 0.0
161 >4'% |E-3 SRS R A 0 2 S8 15 10 0 4 8 8| =mE® 22.4 40 - — — BAT - - SRS — — — 2R 0.3
162| %% |E-4 )11 23] A 0 2 S4 8 10 0 0 10 4l I 3.2 7 - — - i — - BRI 2R — - AL 0.0
163| o#'% |E-5 BRI T 23 A 0 0 S6 10 15 0 4 8 4| iy 1.4 3 - - - R T — - EEaH 2R - - 2R 0.0
164| 1'% |E-6 K #IF A 0 0 S3 4 0 0 16 20 6|  Akzhy 10 17 - - - L - - K - - - AL 0.0
165| >4'% [E-7 NI 237 B 0 0 0 0 0 0 0 0 0 - — - - — — BLETT — - — - - - AL 0.0
166| 54'% |E-8 8 5 RET 23] B 0 0 0 0 0 0 0 0 0 - — ~ - — - - — - ByiRET | oh2H - - B 4 RET 0.0
167| 4% [E-9 thiE T BRI B 0 0 0 0 0 0 0 0 0 - - - - - —- | EFIES - - IR - - - SH B 0.0
168 242 [E-10 IR #IF A 0 5 S4 10 10 0 5 5 5| HATIES 1.6 10 - - - | EFIES - - IR - — - HFIRT 0.0
169| 2% [E-11 AFIET R B 0 0 0 0 0 0 0 0 0 - - - - - - | ERIES — - AFIET ~ - — SH B 0.0
& & |169 F
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